Projected Enrollment 2018-2019 Bedford Area School District

	BE	BMS	BHS	ELEM	SECOND	GRAND
Half Day Kindergarten				TOTAL	TOTAL	TOTAL
K1 - (No IEP/Regular)		XXXXXX	XXXXX			
K1 - (IEP/Special Ed)			XXXXX			
K1 - (IEP/Gifted)			XXXXX			
TOTAL	0			0		
				•		
Full Day Kindergarten						
K - (No IEP/Regular)		XXXXXX	XXXXX			
K - (IEP/Special Ed)			XXXXXX			
K - (IEP/Gifted)			XXXXXX			
TOTAL	117	,00000	100000	117		
1st Grade - (No IEP/Regular)		XXXXXX	XXXXXX			
1st Grade - (IEP/Special Ed)			XXXXXX			
1st Grade - (IEP/Gifted)			XXXXXX			
TOTAL	111	///////////////////////////////////////	~~~~~	111		
	111			111		
2nd Grade - (No IEP/Regular)		XXXXXX	xxxxx			
2nd Grade - (IEP/Special Ed)			XXXXXX			
2nd Grade - (IEP/Gifted)			XXXXXX			
· · · · · · · · · · · · · · · · · · ·	127	~~~~/	~~~~/	127		
TOTAL	127			127		
2rd Crada (No IED/Pagular)		~~~~	xxxxx			
3rd Grade - (No IEP/Regular)						
3rd Grade - (IEP/Special Ed)			XXXXXX			
3rd Grade - (IEP/Gifted)	4.40	*****	XXXXX			
TOTAL	118			118		
4th Grade - (No IEP/Regular)		~~~~	XXXXX			
			XXXXXX			
4th Grade - (IEP/Special Ed)			XXXXXX			
4th Grade - (IEP/Gifted)	110	~~~~	~~~~			
TOTAL	112			112		
5th Grade - (No IEP/Regular)		~~~~	XXXXX			
5th Grade - (IEP/Special Ed)			XXXXXX			
			XXXXXX			
5th Grade - (IEP/Gifted) TOTAL	110	~~~~/	~~~~/			
TOTAL	118			118		
	BE	BMS	BHS	ELEM	SECOND	GRAND
	DE	DIVIO	6010	TOTAL	TOTAL	TOTAL
6th Grade - (No IEP/Regular)	XXXXXX		xxxxx		IUTAL	IUIAL
6th Grade - (IEP/Special Ed)	XXXXXX		XXXXXX			
, ,			XXXXXX			
6th Grade - (IEP/Gifted) TOTAL	XXXXXX	147	~~~^/			
		147		147		
7th Grade - (No IEP/Regular)	VVVVV		****	(
	XXXXXX		XXXXXX			
7th Grade - (IEP/Special Ed)	XXXXXX		XXXXXX			
7th Grade - (IEP/Gifted)	XXXXXX		XXXXXX	ι	4.40	
TOTAL		148			148	
			<u> </u>	/		
8th Grade - (No IEP/Regular)	XXXXXX		XXXXXX			
8th Grade - (IEP/Special Ed)	XXXXX		XXXXX	(

Projected Enrollment 2018-2019 Bedford Area School District

8th Grade - (IEP/Gifted)	XXXXX		XXXXXX			
TOTAL		149			149	
9th Grade - (No IEP/Regular)	XXXXX	XXXXX				
9th Grade - (IEP/Special Ed)	XXXXX	XXXXX				
9th Grade - (IEP/Gifted)	XXXXX	XXXXX				
TOTAL			133		133	
10th Grade - (No IEP/Regular)	XXXXX	XXXXX				
10th Grade - (IEP/Special Ed)	XXXXX	XXXXX				
10th Grade - (IEP/Gifted)	XXXXX	XXXXX				
TOTAL			141		141	
11th Grade - (No IEP/Regular)		XXXXXX				
11th Grade - (IEP/Special Ed)	XXXXXX					
11th Grade - (IEP/Gifted)	XXXXXX	XXXXXX				
TOTAL			159		159	
12th Grade - (No IEP/Regular)	XXXXXX	XXXXXX				
12th Grade - (IEP/Special Ed)		XXXXXX				
12th Grade - (IEP/Gifted)	XXXXXX	XXXXX				
· · · · ·			149		149	
	703	444	582	850	879	1729

Enrollment 2017-2018 Bedford Area School District

	BE	BMS	BHS	ELEM	SECOND	GRAND
Half Day Kindergarten	_			TOTAL	TOTAL	TOTAL
K1 - (No IEP/Regular)		XXXXXX	XXXXX		=	
K1 - (IEP/Special Ed)			XXXXX			
K1 - (IEP/Gifted)			XXXXXX			
TOTAL	0	/00000	/00000	0		
TOTAL	0			0		
Full Day Kindergarten						
K - (No IEP/Regular)		XXXXXX	XXXXXX			
K - (IEP/Special Ed)			XXXXXX			
K - (IEP/Gifted)			XXXXXX			
TOTAL	111	///////////////////////////////////////	///////////////////////////////////////	111		
TOTAL						
1st Grade - (No IEP/Regular)		XXXXXX	XXXXXX			
1st Grade - (IEP/Special Ed)			XXXXXX			
1st Grade - (IEP/Gifted)			XXXXXX			
TOTAL	127			127		
	121			121		
2nd Grade - (No IEP/Regular)		XXXXXX	xxxxx			
2nd Grade - (IEP/Special Ed)			XXXXXX			
2nd Grade - (IEP/Gifted)			XXXXXX			
TOTAL	118	///////	~~~~~	118		
TOTAL	110			110		
3rd Grade - (No IEP/Regular)		xxxxx	xxxxx			
3rd Grade - (IEP/Special Ed)			XXXXXX			
3rd Grade - (IEP/Gifted)			XXXXXX			
TOTAL	112	~~~~/	~~~~	112		
TOTAL	112			112		
4th Grade - (No IEP/Regular)		xxxxx	XXXXXX			
4th Grade - (IEP/Special Ed)			XXXXXX			
4th Grade - (IEP/Gifted)			XXXXXX			
TOTAL	118	/00000	/00000	118		
	110			110		
5th Grade - (No IEP/Regular)		XXXXXX	XXXXXX			
5th Grade - (IEP/Special Ed)			XXXXXX			
5th Grade - (IEP/Gifted)			XXXXX			
TOTAL	147			147		
	BE	BMS	BHS	ELEM	SECOND	GRAND
				TOTAL	TOTAL	TOTAL
6th Grade - (No IEP/Regular)	XXXXX		XXXXXX	(
	XXXXX		XXXXXX	(
, , ,	XXXXX		XXXXXX			
TOTAL		148		148		
7th Grade - (No IEP/Regular)	XXXXX		XXXXXX	(
7th Grade - (IEP/Special Ed)	XXXXX		XXXXXX	(
	XXXXX		XXXXXX	(
TOTAL		149			149	
8th Grade - (No IEP/Regular)	XXXXX		XXXXXX	(
, ,	XXXXX		XXXXXX			

Enrollment 2017-2018 Bedford Area School District

8th Grade - (IEP/Gifted)	XXXXX		XXXXXX			
TOTAL		133			133	
9th Grade - (No IEP/Regular)	XXXXX	XXXXX				
9th Grade - (IEP/Special Ed)	XXXXX	XXXXX				
9th Grade - (IEP/Gifted)	XXXXX	XXXXX				
TOTAL			141		141	
10th Grade - (No IEP/Regular)	xxxxx	XXXXXX				
10th Grade - (IEP/Special Ed)	XXXXXX					
10th Grade - (IEP/Gifted)		XXXXXX				
TOTAL			159		159	
11th Grade - (No IEP/Regular)	XXXXXX	XXXXXX				
11th Grade - (IEP/Special Ed)	XXXXX	XXXXXX				
11th Grade - (IEP/Gifted)	XXXXX	XXXXXX				
TOTAL			149		149	
12th Grade - (No IEP/Regular)	XXXXXX	xxxxx				
12th Grade - (IEP/Special Ed)		XXXXXX				
12th Grade - (IEP/Gifted)	XXXXXX	XXXXXX				
			148		148	
	733	430	597	881	879	1760

	Ass	essment	Millage	Та	x		
Bedford Borough	\$	177,000,800	0.009424		1668055.9		
Bedford Township	\$	520,499,500	0.009424		4905187.42		
Colerain Township	\$	87,381,390	0.009424		823482.2		
Cumberland Valley	\$	103,260,430	0.009424		973126.25		
Harrison Township	\$	66,940,790	0.009424		630849.99		
Hyndman Borough	\$	29,044,320	0.009424		273713.78		
Londonderry Township	\$	97,566,340	0.009424		919465.31		
Manns Choice Borough	\$	9,576,520	0.009424		90249.13		
Rainsburg Borough	\$	4,440,500	0.009424		41847.23		
Snake Spring	\$	173,256,360	0.009424		1632767.94		
	\$	1,268,966,950		\$	11,958,745.15		
Homestead/Farmstead Exclusi	ons						
Bedford Borough		691		\$	(333,057.72)	\$	1,334,998.18
Bedford Township		1591		\$	(712,086.40)	\$	4,193,101.02
Colerain Township		388		\$	(180,922.30)	\$	642,559.90
Cumberland Valley		477		\$	(225,482.58)	\$	747,643.67
Harrison Township		304		\$	(138,490.84)	\$	492,359.15
Hyndman Borough		268		\$	(120,118.78)	\$	153,595.00
Londonderry Township		555		\$	(254,527.26)	\$	664,938.05
Manns Choice Borough		69		\$	(30,850.31)	\$	59,398.82
Rainsburg Borough		35		\$	(16,003.72)	\$	25,843.51
Snake Spring		489		\$	(231,212.08)	\$	1,401,555.86
		4867		\$	(2,242,751.99)		
				\$	9,715,993.16		

2016-2017				
1) Real estate levy imposed (expressed	ed as a millage rate and an aggreg	ate dollar amount)		
Taxable Assessed Value	Millage Rate	Tax Levy		
1265194026	0.009222	\$ 11,667,619.31		
-226839925.7 Homestead Farmste	ead Exclusions			
1038354101 Adjusted Assessed	Value 0.009222	\$ 9,575,701.52		
2) The dollar amount of real estate tax	kes collected that represented curr	ent collections (expressed bo	th as a percentage of	such fiscal year's levy a
,			· · ·	
Current Collections	Percentage			
\$ 9,115,737.29	95.20%			
3) The amount of real estate taxes co	llected that represented taxes levie	ed in prior years (expressed a	s an aggregate dollar	amount)
,				· · · · · · · · · · · · · · · · · · ·
\$ 426,352.78				
4) The total amount of real estate taxe	es collected (expressed both as a r	percentage of the current yea	r's levy and as an ago	regate dollar amount)
,		,	,	Ť Ť
Real Estate Taxes	Percentage			
\$ 9,542,090.07	99.65%			

Property Tax Results

gregate doll	ar amount)
	gregate doll

Bedford Area School District -	Top Ten Taxpayers 2	2017										
											0.009424	
Company			Parcel		Parcel	Parcel			Total			
1 Wal-Mart Stores	Bedford Township	28584300	157200	137600	1145000				30024100	\$	282,947.12	
2 Omni Bedford Springs	Bedford Township		4416300	60400	22100	146200	993980		29329580		276,401.96	
3 Recreational Equipment	Bedford Township		43300						20643300		194,542.46	
4 Homewood at Springhouse	Snake Spring	384700	8733900		131900		136300	137800	17338300	\$	163,396.14	
and Spring House Estates		146100	136400		134300		155200	101600				
		150600	107200		116500		117000	116500				
		121000	117600		137300		120000	130800				
		122200	129200		127100		118900	135200				
		131900	135200		139700		102900	102900				
		102900	96000		102900		102900	102900				
		102900	95800		97000		97900	105900				
		131700	117600		105900		113600	108000				
		123200	107200	127800	107200	136200	134900	154800				
5 Smith Realty	Bedford Township	9893200							9893200		93,233.52	
6 Bedford Hotel Partners LP	Bedford Township	6460200	72000)					6532200		61,559.45	
7 Bedford Real Estate LLC	Bedford Township	6188200							6188200		58,317.60	
8 JLG Industries	Bedford Township	2559700	2000	3700	28500	3350700			5944600		56,021.91	
9 Bedford Ford Lincoln Mercury	Bedford Township	5278600							5278600		49,745.53	
10 RE Everett LLC	Snake Spring	4983000							4983000	•	46,959.79	
11									0	\$	-	
										\$ 1	,283,125.47	
Bedford Area School District -	Top Ten Employers											
1 Wal-Mart Associates												
2 Pennsylvania State Governme	nt											
3 Omni Bedford Springs												
4 Recreational Equipment Inc												
5 UPMC Bedford Memorial												
6 Kennametal												
7 Bedford Area School District												
8 Bedford County Commissioner	'S											
9 Bedford Reinforced Plastics In				1								
10 Rockland												